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2.4 Bl

http://[SERVER]:[PORT]/SE_RGC2?st=Rgc2&point=116.42028,39.91845&e ncodi
ng=utf8&type=11&uid=test
iR #YH) 4 116.42028,39.91845 (ZRIAGCI-024L%5) X N [ FE(E E .

XML %t

Lxmlx
“resultr
<Hetrict textrbETHEER > EBEEY datrict textd
{addre==> P = B BEE M0 addres
Croadr
<oldname ) RIS S84 B < ol dname
<oode G110/ code 2
<ecode 764 codex
CIngr 116 33853 1ng >
<l st arce 24 Al stance >
<lanerumber S E S = FEIE < Tanemmber>
<roadtyper E T T E < roadtyper
<limit_speed:120. 00000</limit_speed:
{linkid>BTO38855< 1inkid:
<urbarc: 1</ urban >
<riame T Bek e IR s B < nuame
<yidthe (5. 5313 widtho
<road level =R fE < /road lewels
£ 1at»40, 04256 < 1at
<road_lewel coder0</road lewel codek
£froad:
Cdistrict>110108000< district>
road_addrezs > EEEAERE2A < road address>
{point
CIngr 116, 33898 1ng >
<l =t ance »80< distancer
<name>P = BB ER < /name>
Cdirr P dirs
< 1at 40, 04298 1at
</podnd >
<fresulty
<statu=zrokd status
Cfamlx

JSON it
{"result":{"district_text":"dt 5 TTi>Jb F i >HRE X", "address":" H = i 4% (005 2 74 80 K
" "road":{"oldname":" )\ i I = /N 1
" "code2":"G110","code":"G6","Ing":"116.33853","distance":2,"lanenumber":" P 2 5, = 2% 4~
JE","roadtype™:" [ N 270 &
" Mlimit_speed":"120.00000","linkid":"87938855" "urban":"1" "name":" {5 5 2\ 1K
" "width":"(5.5 2K~13 >K]","road_level":" =5 4%
" "lat":"40.04256","road_level code":0},"district":"110108000","road_address":" 5 Ji& ‘=iE A
VUG 2 K", "point™:{"Ing":116.33898,"distance":80,"name":" P = JfE &% (o i 5" "dir:" 7
" "lat":40.04298}}, "status":"ok"}
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http://[SERVER]:[PORT]/SE_RGC2?st=Rgc2&point=116.42028,39.918458&encodi
<?xml version="1.0" encoding="utf-8"?>ng=utf8&type=11&uid=test&cd=wgs84

ik A5 A 116.42028,39.91845 (wgs84ABFR) X M [ HIFE(E B .

XML %t :

vowmly
¥ {reslt
{district_text>dEEmLEMBEE S dstrict_text>
<addres=>{BEIRFE 0N addrez=>
v {roadr
{Ingr116 34463 Ing >
{distance >l T4/ diztancer
<lanerumber >— 2 18 </ 1 anerumbe v
<roadtype>[E s FIIERE </ roadtvpe>
£1imit_speed: 15, 00000< 1imit_speed:
Clirkeid A58 2< 1 ivkidx
{urbarc 1< arban
<rame,
Qyidthe (3375, 5] <widthe
<road level >E B < road lewel:
£1at>40, 043734 1at
{road_lewel _coderfd road lewel code
<froad:
<digtrict>110108000< district
<road_addre=s>dE1TH < /road address>
¥ {point>
{Ingr116. 34368 Ing >
{dist ance >39< dizt ancer
<name {22217 < nane
{dir»PRE < diry
£ 1atd0, 04407 < 1at
</poirt >
<fresulty
<gtatus ok statusy
<feml

JSON#i H :
{"result”: {"district text”:”dbETi>Ib XTI >EIEX”, “address” : "5 ZE R
39 K7, "road” : {"1ng”:”116. 34463”, "distance”: 17, “lanenumber”:” —4k ZEi8
7 "roadtype” :” X I8, N 18
7 ”1imit speed”:”15. 000007, “1inkid”:”695482”, “urban”:”1”, “name”:””, “width
77 (3K75.5 K17, “road level”:” HAthiE %
7 ”lat”:740.04373”7, "road level code”:6}, “district”:”110108000”, “road addr
ess”: 74k 17 K7, “point”: {"1ng” : 116. 34436, "distance” : 39, "name” : 15 %17
7 7dir” " HEE7, “1at” :40. 04407} }, “status”:"ok”}
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